Aufgaben zu Prozentrechnung

Aufgabe

Lose die folgenden Aufgaben zu Prozentrechnung

a) 798tvon4200t

d) 34 % von 400 m?

g) 54 % von 25004

j) 70€vonb500€

m) 1729tvon 9100t

p) 51 % von 3000 m’

) 37 % von 100 m?

v) 35003 gvon49300g
) 14006 € von14900€

S

y

b) 4876 kgvon5300kg
e) 3950€von7900€

h) 86 % von2300€
k) 1089tvon1100t
n) 81 % von23100€
q) 144€von200€

t) 79 % von 500€

w) 28 % von 100 ¢

z) 255gvon300g

299 m? von 1 300 m?
1570 £von 15700 ¢
969 kg von 1 700 kg
87 % von1200¢

6 % von 10800 ¢
882gvon900 g

69 % von 5500t
114gvon300g
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Losung

a) 19% b) 92% o) 23%

d) 136 m? e) 50% f) 10%

g) 13507 h) 1978€ i) 57%

i) 14% k) 99 % ) 10447
m) 19 % n) 18711€ o) 648¢

p) 1530m? q) 72% N 98%

s) 37m? t) 395€ u) 3795t
v) T1% w) 28¢ x) 38%

y) 94% 7) 85%
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